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ENINEAO 1

(14 o€lideg 25 epwWTAHOEIG)
INSTRUCTIONS TO CANDIDATES
OAHrIEZ NMPOZ TOYZ AIAFQNIZOMENOYZ

For each question, choose and circle the best answer A, B, C, or D, using the
answer sheet provided.

[a KABe epwTNON, ETTIAECTE KAl KUKAWOTE T KOAUTEPN atravinon A, B, ' n A
XPNOIUOTTOIWVTAG TO €I0IKO QUAAO yIa TIG ATTAVTACEIG 0AG.
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KAAH ENITYXIA

1 Which group contains only liabilities?

A cash at bank, trade receivables, rent prepaid, cash in hand
B capital, trade receivables, equipment, bank overdraft

C trade payables, capital, wages accrued, inventory

D trade payables, bank loan, bank overdraft

1 Mola opdda repIAapBdvel pévo TradnTIKa

A peTpnTad OTN TPATTECA, XPEWOTEG, EVOIKIA TTPOTTANPWHEVA, NETPNTA

B Ke@AAaIO, XPEWOTEG, ECOTTAIONOG, , TTAPATPARNYHO

I mMoTwTEG, KEPAAaIO, NUEPONIoOIa o@eINOuEVA, aTToBEuaTa
EUTTOPEUNATWV

A motwTég, davelo atrd TpaTtreda, TTapaTpARnyua
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2 The following balances have been taken from a trader’s books.

Inventory €10 000

Bank overdraft €5 000

Cash in hand €2 000

Office equipment €30 000

Trade receivables €15 000

Trade payables €10 000

Long-term loan from bank €20 000
Commission income accrued €8 000
What is the total of the current assets?

A €27 000 B €35000 C €65 000 D €73 000
2 Ta BIBAia evog etixeipnuaTia Ogixvouv Ta TTI0 KATW UTTOAOITTA:

arroféuarta eutropeupdTwy €10 000

TTapaTpapBnyua otn 1patrea €5 000

METPNTA €2 000

eCoTTAIONO ypageiou €30 000

xpewoTeg €15 000

moTwTéS €10 000

Makpoxpovia davela atrd mn Tpatreda €20 000

TTpouNnBEIa IoTTPOKTEQ OPEINOuEVN €8 000

Ti gival TO ABPOICHA TWV KUKAOPOPIOKWYV EVEPYNTIKWYV;

A €27 000 B €35000 I €65 000 A €73 000
3 Which ONE of the following Accounting equations is incorrect?

A Assets - Equity = Liabilities
B Liabilities + Assets = Equity
C Liabilities + Equity = Assets
D Assets - Liabilities = Equity

3 Mola a1réd TIG 0 KATW AOYIOTIKEG £§loWOEIS gival AdBoG;
A EvepynTtika - KepdAaio = MadnTika
B [Mabntika + Evepyntikd = Ke@dAaio
I MaBnrmikd + KepdAaio = EvepynTiKa
A EvepynTika - MadnTikd = KepdAaio
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4 A decrease in acurrent asset may be NOT offset by:

A an increase in another asset account

B a corresponding decrease in owner’s capital
C a decrease in some other asset account

D a corresponding decrease in a liability

4 Mia peiwon evog KUKAOQOpPIaKoU evepynTIKOU ptropei va MHN
eSoudeTEPWOEI ATTO:

A augnon o€ KAtrolo AAAO evepynTikd
B avTioToIXN MEiwoN OTO KEQAAAIO

r MEiwon o€ KATTOI0 AANO EVEPYNTIKO
A avTioToIxn MEiwon evog TTadnTikou

5 How the cost of goods sold is calculated?

A opening inventory + net purchases - carriage inwards - closing inventory

B opening inventory - net purchases + carriage outwards - closing
inventory

C opening inventory + purchases — returns outwards - closing inventory

D opening inventory + purchases — returns inwards - closing inventory

5 Mwg utroAoyileTal To KOOTOG TWV TTWARCEWV;

A apXIKQ euTTOPEUATA + KABAPEC AYOPEC — ETAPOPIKA ££00a ayopwY -
TEAIKA gEUTTOPEUPATA

B apxIKa eUTTOPEUMATA - KABAPES AYOPES + METAPOPIKA £C0da
TTWANCEWYV — TEAIKA EUTTOPEUATA

I apxIKG EUTTOPEUATA + AYOPEG — ETTIOTPOPEG AYOPWV- TEAIKA
EUTTOPEUMATA

A apxIKG guTTOPEUPATA + AYOPEG— ETTIOTPOPES TTWANCEWV — TEAIKA
EUTTOPEUMATA

6  During an accounting year Maria had revenue (sales) of €200 000 and
cost of sales €50 000. Her expenses were €40 000 and other incomes
were €10 000. What was her net profit?

A €110 000 B €120 000 C €190 000 D €200 000
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H Mapia katd 1n didpkela evog AoyIoTIKOU £TouG €ixe TTwAnoelig €200 000

Kal K6oTo¢ Twv TTWARoewy €50 000. Ta £€¢oda Tng ATav €40 000 kai Ta
aAa €éo0oda TG €10 000. Ti ATav To KABAPS TNG KEPOOG;

A €110 000 B €120000 I €190000 A €200 000

What is the purpose of preparing a trial balance?

(i) to check the arithmetical accuracy of the double entry book keeping

(i) to help us to find and correct all errors

(iii) to aid the preparation of final accounts

(iv) to prove that the recording of transactions has been carried out
without errors

A (i) and (ii) only
B (i) and (iii) only
C (ii) and (iii) only
D (iii) and (iv) only

Molog eival 0 OKOTTOG TNG ETOINACIAG TOU SOKINOCTIKOU

iIocoduyiou;

(1) Na eAéycel Tn apIOuNTIKA akpieia TNG SITTAOYPAQPIaS PG

(i) Na BonBnoel va evrotriocoupe Kal va diopBwaooupe OAa Ta Adbn

(iii) Na BonBnoel otn eTOIHACia TWV TEAIKWV AOYOPIAO WY

(iv) Na atrodegicoupe 611 01 DITTAOYPAPIKEG HOC EYYPAPES EXOUV
TTPAYMUATOTTOINBEI XWPIG AGON.

A (i) kai (i) yovo
B (i) kai (iii) pévo
(i) ka (iii) pévo
A (iii) kai (iv) pévo



8 What was the balance on the following account on 31 January 20207

8

J. John a/c
Jan 1l |Balance b/d 3200 | [Jan5 |Bank 3000
Jan 10 | Sales 2550 | |Jan5 | Discount 200
allowed
Jan 18 | Returns inwards 500
A A debit balance of €2 050
B A credit balance of €2 050
C A credit balance of €5 750
D There is a nil balance on the account
Ti ATav TO UTTGAOITTO TOU TTIO KATW Aoyaplaopou oTig 31
lavouapiou 2020;
J.John al/c
lav 1 | YmréAoritro €1 véo 3200 | |lav S | Tpdamela 3000
lav 10 MwARoeig 2550 | |lav 5 | EKTTTWOEIg 200
lav 18 | ETmioTpogég 500
TTWARCEWV
A XpewoTikd utrdAoitro €2 050
B Tliotwtikd uttdAoitro €2 050
I Motwtikd uttéAoitro €5 750
A Agv uttdpxel utTGAOITTO OTO Aoyaplaouo
Of the following transactions, which are the correct entries?
DR CR
()  Goods sold on credit to P. Paul: - P. Paul -Sales
(i)  T. Takis a customer, returns
goods to us: -Returns in -T. Takis
(i)  Goods bought for Cash: -Cash - Purchases

(iv) We returned goods to H. Harry

a supplier: -H. Harry -Returns in




A (iii) and (iv) only
B (ii) and (iv) only
C (i) and (ii) only
D (i) and (iii) only

9 A6 Ta aKkOAouBa TToIEG Eival Ol CWOTEG EYYPUAPEG;

10

Xpéwon MicTwon

0] MwANON EUTTOPEUPATWY UE TTIOTWON

oto I1 .MéTpo: - M .MNétpo - NMwAnoeig
(i)  T. TAKNG ETTECTPEYE EUTTOPEUMATA: - EmoTtpogpég - T. Takng
TTWAACEWV
(i)  Ayopd eUTTOPEUMATWY UE YETPNTA: - MeTpntd - Ayopég
(iv) EmoTtpo@n eutropeuddTwy oto X. Xdpn:- X. Xapn -EmoTpogég
TTWACEWV

A (i) kai (iv) only
B (ii) ka1 (iv) only
(i) kau (i) only
A (i) kau (iii) only

Paul had the following transactions with Andreas, a customer.

Jan. 1 Outstanding balance brought down €500
Jan. 5 Goods invoiced to Andreas €350
Jan. 6 Debit note received from Andreas for goods retuned €35
Jan. 15 Cheque received from Andreas €700 cash discount allowed €15
Jan. 24 Goods invoiced to Andreas €470
Jan. 25 Credit note issue to Andreas €20
Feb. 5 Cheque received from Andreas €300
Feb.10 Paul sent a statement of account to Andreas for the month
of January.
What was shown as the balance due on 31 January?

A €550 B €450 C €250 D €150



10 O lNauAog €ixe TIG TTI0 KATW cUVAAAaYEC pE Eva TTEAATN ToV AvOpéa.

lav. 1 YTréAoitro €1¢ véo €500

lav. 5 TlwAnoe gutmopevparta pe TTioTwon otov Avdopéa €350

lav. 6 T[Rpe XpeWOTIKA onueiwon atrd Tov Avdpéa €35

Jan.15 TRpe emrayr €700 atmrd Tov AvOpéa YE TAPIOKN EKTTTWon €15
Jan. 24 NMwAnoe€ gutropevparta pe Triotwon otov Avdopéa €470

Jan. 25 'Ekdwoe moTwTIKA onueiwon otov Avdpéa €20

®eB. 5 MNApe emrayn ammd Tov Avdpéa €300

®eB. 10 O MavAog €oTelAe KaTAOTOON TOU Aoyapiacguou oTov Avopéa
yla 1o yufiva lavoudpio.

Moio ATav To opelIAduevo utrdéAoitro oTig 31 lavouapiou;

A €550 B €450 M €250 A €150

11 A business values its closing inventory at €5 500.

This includes €1 500 for goods which can only be sold for €1 000.
At which value should inventory be recorded in the final
accounts?

A €4 000 B €5 000 C €6 000 D €7 000

11 Mia emmixeipnon aTroTiNoE Ta EPTTOPEUPATA TNG 0€ €5 500.
Auta TTepIAaupBavouy gutropeupaTta kKooToug €1 500 Ta oTTOIa PTTOPOUV
va TTwANBouv povo yia €1 000.
2 € TTOI0 TIMA 60 TTAPOUCIACTOUV T ENTTOPEUHATA TNG OTOUG
TEAIKOUG AoyaplaouOUG;

A €4 000 B €5 000 I €6 000 A €7 000

12 On 31 December 2019 Kyriako'’s financial year, his accounts included:
Equipment at cost €6 000 and accumulated depreciation of equipment
€2 000.
On 1 January 2020 Kyriakog purchased additional equipment for €10 000.
Equipment is depreciated at 25% per annum using the diminishing
balance method.



What would be the accumulated depreciation of equipment on 31
December 20207

A €2 500 B €4 000 C €5 500 D €7 500

2TIG 31 Aekepppiou 10 2019, TEAOG TOU AOYIOTIKOU TOU £TOUG, Ol
Aoyaplaouoi Tou Kupidkou cuptTepIAQUBAVOUV:

E¢otrAiIopo o€ Tiu k6oToug €6 000 Kal CUCOWPEUPEVN aTTOOREDN
eCotTAiIcpoU €2 000.

Tn 1 lavouapiou 2020 o Kupidkog ayépace eTTITTPO0OETO £EOTTAICHO

€10 000.

O €ComTAIonOG atmooBEveTal 25% TO £€T0G XPNOILOTTOIWVTAG TN PBivouca
MEBODO.

Ti Oa gival n cuocowpeupévn atrdéoBeon Tou SOTTAICHOU OTIG 31 AeK.
2020;

A €2 500 B €4 000 I €5 500 A €7 500

Motor vans repairs, €10 000, were treated as a capital expenditure.
Motor vans are depreciated at 20% per annum on cost. What is the
effect of the above treatment at the end of the year?

understated profit €2 000  understated motor vehicles €2 000
overstated profit €10 000 overstated motor vehicles €10 000
understated profit €8 000  understated motor vehicles €8 000
overstated profit €8 000 overstated motor vehicles €8 000

OO m®>

‘E€oda auTokivriTou, €10 000, £xouv TTapouciacBei ocav KEQaAAIOUXIKA
€€oda. Ta autokivnTa atrooBévovtal ue 20% 10 £€T0C OTN TIMA KOOTOUG.
Ti gival n €Tidpaon TOU TTI0 TTAVW XEIPIOHOU OTO TEAOG TOU £TOUG;

utroTignon képdoug €2 000 -utroTiynon auTtokiviTwy €2 000
utrepTipnon képdoug €10 000 -utrepTipnon autokiviTwy €10 000
utroTiunon képdoug €8 000 -uTtroTipnon autokivTwy €8 000
utTepTignon képdoug €8 000 -utrepTipnon auTtokiviTwy €8 000

>w >
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Sakis sublets part of his premises to Rena, a tenant, at an annual rent of
€7 500. The tenant owed two months’ rent on first January 2019, but she
paid in advance €700 at the end of the year.

How much did Rena paid for rent during the year?

A €7 500 B €8 750 C €8 200 D €9 450

O ZAakng evoikialel pépog Twv akIvATwyY Tou 0T Péva, yia €7 500 1o
€10¢. H evoikiaoTAG O@eIAe evoikio duo unvwy oTn 1 lavouapiou 2019,
aAAG TTpoTTAfpwaoe €700 oTo TEAOG TOU £TOUCG.

Moéoca evoikia €xel TTAnpwoel N Péva Katd Tn S1dpKeIa TOU £€TOUG;

A €7 500 B €8 750 C €8 200 D €9 450

A firm bought a motor van for €19 000. It is expected to be used for
four (4) years then sold it for a scrap value of €1 000. What is the
annual amount of depreciation if the fixed instalment method is
used?

A €4500 B €5000 C €4 750 D €4 000

Mia emixeipnon ayopace éva autokivnTo yia €19 000. AvauéveTe va 1o
XPNOIJOTTOINOEl yia TEooepa (4) xpovia Kal JETA va To TTwARoel yia €1 000
uTTOAEINUATIKA agia. Ti gival n €TACIA ATTOOPREOT €AV EQAPUOOCTEI N
otafepn péEBodOG;

A €4 500 B €5000 [ €4 750 A €4 000

The trial balance at John’s year-end shows trade receivables of €25 000
irrecoverable debts of €2 500 written off during the year. Additional
irrecoverable debts of €1 000 is to be written off at the year end.

Which of the following shows the correct net trade receivables in
the statement of financial position?

A €21500 B €22 500 C €23500 D €24 000
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To dokIyaoTIKO 1I00CUYI0 TOoUu John’s 0TO TEAOG TOU £TOUG OEiXVEl
xpewoTeg €25 000, emoaleic xpewoTeg €2 500 tTou diaypdenkav Katd
TN di1dpkela Tou €Toug. ETmimTpooBeTa emmio@alceic xpewoTteg €1 000 Ba
dlaypa@ouv oTo TEAOG TOU £TOUG.

Moiév atré Ta ak6AouBa pag deixvel TOUG CWOTOUG KaBapoug
XPEWOTEG OTN XPNMATOOIKOVOUIKH KATACTAON);

A  €21500 B €22 500 Ir €23 500 A €24 000
Which of the following are personal accounts?

(i) Buildings

(i) Capital

(i) Wages

(iv) Trade payables

A (i) and (iii) only
B (i) and (iv) only
C (i) and (iv) only
D (iii) and (iv) only

Mool atré Toug TTAPAKATW AOYyapIaoOUG Eival TTPOCWITIKOI;
() Kmpia

(i) Kepahaio

(i) HuepopioBia

(iv) MoTwTég

A (i) kau (iii) povo
B (i) kai (iv) yévo
[ (i) kai (iv) pévo
A (i) kan (iv) poévo

A trader made the following payments:
Building repairs €10 000

Extension to building €20 000

New tires for motor van €400

Office equipment €5 000

Decoration of office equipment €200
What is the total revenue expenditure?

A€10000 B €10400 C€15600 D 30600

10



18 "Evag emmixeipnuatiag €ixe TIc akOAoUBEeC TTANPWHEG:
Emdiopbwoeig kTipiwv €10 000
MpoékTaon kTipiwv €20 000
Kaivoupyia AdoTixa autokivntou €400
E¢otrAiIopo ypageiou €5 000
Alakéopunon €otrAiIcpou ypageiou €200
Molo €ival To CUVOAO TWV AEITOUPYIKWY €E60WV;

A€10000 B €10400 C€15600 D €30600

19 John’s business transactions includes the following payments.
Business premises €20 000
Rates and taxes for the business premises €200
Rates and taxes for John’s private house €100
Decoration of business premises €500
Wages of employees €15 000
Salaries of John €3 000
How much expenditure will be capitalized?

A €20 800 B €20 700 C €20 500 D €15 700

19 Oi1 ouvaAlayég TN eTTIXEipnong Tou MNdavvn ocuptTEPIAQUBAVOUV Kal TIG
MO KATW TTANPWHEG:
Akivnta €20 000
dodpol akIvTWVY TNG £TTiXeipnong €200
ddpol TNG TTPOCWTTIKAG KaTolKiag Tou John €100
2TOANIONOG TwV akiviTwy €500
HuepopioBia Twv uttaAARAwy €15 000
MioBoi Tou John €3 000
NMoéoca Ba gival Ta KepaAalouXikd £€5004;

A €20 800 B €20 700 [ €20 500 A €15700

11



20

20

21

21

22

On 1 January 2019 Myria had unused stationery valued at €150.
At 31 December 2019 her unused stationery was valued at €120.
During the year Myria purchased stationery costing €550.

How much should be charged for stationery in the income
statement for the year ended 31 December 20197

A €700 B €580 C €520 D €400

Tn 1 lavouapiou 2019 n MUpia cixe amébepa ypagikng agiag €150.

Tn 31 AekepBpiou 2019 1o amdBepa TS YPAPIKAS TNGS UANG €ixe atia €120.
Kartda 1n didpkeia 1ng Xpovidag n Mupia ayopaoe ypa@ikf UAN agiag €550.
Méoca Ba Xpewobei yia ypa@iki UAN N KATACTAOT ATTOTEAECHATWYV

yia 1o £€T0G TTOoU TeAgiwoe oTig 31 Aekeuppiov 2019;

A €700 B €580 M €520 A €400

Given a purchases invoice showing 10 items at €60 each, less trade
discount of 20 per cent and cash discount of 10 per cent, if paid within
the credit period, your cheques would be made out for:

A €480 B €520 C €432 D €420

‘Eva TigoAdyIo ayopwyv deixvel Ot 10 avTikeipeva TTpog €60 1o KaBEva,
ME EUTTOPIKNA EKTTTWON 20% Kai Tapiokr EKTTTwon 10% edv TTANPwOEi
Eykaipa, réoo Ba gival To TT000 TNG EMITAYAS;

A €480 B €520 [ €432 A €420

A sole trader provided the following information for the year ended 31
December 2019.

Net profit €15 000

Drawings €6 000

Capital at 31 December 2019 €25 000

Capital at 1 January 2019 €12 000

What was the additional capital introduced during the year?

A €15 000 B €13 000 C €12 000 D €4 000

12
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O1 1110 KATW TTANPOPOPIEC APOPOUV TO AOYIOTIKO £TOG TTOU TEAEIWOE OTIG
31 Aekepppiou 2019 evdg etTixeipnuaTia.

KaBapd kEpdog €15 000

[MpoowTtTikES atToAAWeIc €6 000

KegpdAaio oTig 31 AekeuBpiou 2019 €25 000

Kegpdahaio otn 1 lavouapiou 2019 €12 000

Molo ATav TO EMITTPOOBETO KEPAAAIO TTOU ETTEVOUONKE KATA TN
O1dpKeIa TOU £TOUG;

A €15 000 B €13 000 IF €12 000 A €4 000

What is Gross Loss?

Excess of expenses over gross profit
Excess of cost of goods sold over sales
Excess of Purchases over Net Sales
Excess of sales over cost of goods sold

o0 wo>

Ti givan n MikTA {niq;

A Ytrepoxn €600wv atrd 1o PIKTO KEPDOOG

B Y1repoxn KOOTOUG TTWANCEWV EUTTOPEUPATWY ATTO TIG TTWANCEIG

[ Ymrepoxn ayopwyv atrod TIC KaBapEG TTWANROEIG

A Y1repoxn TTwWAACEWY ATTO TOU KOOTOUG TTWANCTEWYV EPTTOPEUNATWY

If a businessman takes goods for his own use we should:

Debit Drawings Account:  Credit Purchases Account
Debit Drawings Account:  Credit Inventory Account
Debit Drawings Account:  Credit Sales Account
Debit Purchases Account: Credit Drawings Account

o0 >
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Edv o emixeipnuaTtiag mapel EPTTOPEUNATA VIO TTPOCWITIKA TOU
XpRHon Ba mpétrel va:

A Xpewbei 0 Aoyaplaoudg TTPOOWTTIKES atToANWEIG: TlioTwOEi o
Aoyaplaouds ayopég

B Xpewbei 0 Aoyaplaouos TpoowTTIKES AaTTOANWeIS: ToTwoEi o
Aoyaplaopudg eutTopeEUPATA

[ XpewOei o Aoyaplaoudg TTPoowTTIKES ATTOAAWEIS: TTIoTwOEi 0
Aoyaplaopdg TTWANOCEIG

A Xpewbei o Aoyaplaouds ayopEc: MoTwBei 0 Aoyapiacuog
TIPOCWTTIKEG ATTOAAWEIC

A firm bought a fixed asset for €5 000. Estimated scrap value
€700. Itis to be depreciated at a rate of 20 per cent using the
Diminishing balance method. What would be the remaining net
book value after 2 years?

A €3472 B €3 200 C €3512 D €1800

Mia emixeipnon ayopaoce éva pnxavnua yia €5 000. YtroAoyiletai
n utroAsipaTiki Tou adia Ba eival €700. Oa atrooBeocOei pe 20% T10
£T0G, XpnolIgoTrolwVvTag TN PBivouca péBodo. Ti Ba gival n
UTTOAEITTOMEVN KaBap agia TOU unXavAHATog META aTtrd dUo £Tn);

A €3472 B €3 200 I €3512 A €1 800

-TEAOZ -
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